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a! L") NAME OF THE STUDENT: CLASS : 05 SEC: ROLL NO: iﬁ}
SUBJECT:MATHEMATICS DATE : 25.04.2018 TOPIC : LARGE NUMBERS WORKSHEET NO : 01
Q.NO:01

S.NO MCQ ANSWER

The Roman numeral for (24 + 5) is
(i)
(a) XXVl (b) XXIX (c) XXX (d) XXV

The greatest 8-digit number using the digits 5,0,6,3,1,7, 2 is
(ii)
(a) 7,76,53,210 (b) 7,65,32,100 (c) 1,12,35,670 (d) 1,23,56,700

The numeral for Seventy six million four hundred three thousand eleven is
(iii)
(a) 76, 43, 011 (b) 76, 430, 110 (c) 76, 043, 011 (d) 76, 403, 011

The place value of 6 in 45, 03, 61, 508 is
(iv)
(a)6 (b) 60, 00, 000 (c) 60, 000 (d) 6, 00, 00, 000

The predecessor of the greatest 8-digit even number is
(v)
(a) 9,99,99,998 (b) 9,99,99,999 (c) 9,99,99,997 (d) 10, 00, 00, 000

S.NO FILL IN THE BLANKS ANSWER

(vi) | The expanded form of 9405301 in international system is

(vii) | The sum of the place values of 7 in 67, 17, 568 is

(viii) | The Hindu Arabic numeral for LXIIl is

(ix) | (56737 —428) rounded to nearest 100 is

(x) | 603, 456, 015 is the successor of

MATCH THE FOLLOWING
S.NO ANSWER
COLUMN A COLUMN B

(xi) | 1000 less than 56, 78, 614 (a) | 3, 00, 000

(xii) | Place value of 2 in 732, 104, 006 (b) | 98,76,543

(xiii) | 300 thousands (c) | 56,77, 614
(xiv) | 48,72, 716 rounded to nearest 1000 (d) | 2, 000, 000

(xv) | Greatest 7-digit number with different digits (e) | 48, 73,000




S.NO ANSWER THE FOLLOWING
Insert commas and write the number name of 86011572 in Indian system and International system of
numeration.
86011572
Indian
2 system
86011572
International
system
Arrange in ascending order: 5,657,989 ; 5, 567, 689 ; 5,756,988; 5,576,869
3
Ans:
Arrange in descending order: 4,12,98,109 ; 9,12,98,019 ; 4,621,901 ; 4,21, 89,910
4
Ans:
Make the smallest and greatest 8-digit number using the digits 2, 8, 1, 5, 4, 3,0, 7
5 Smallest 8-digit number:
Greatest 8-digit number:
Werite the successor and predecessor of the greatest 7-digit number?
Successor of greatest 7-digit number:
6
Predecessor of greatest 7-digit number:
Which is smaller? 4, 50, 63,102 or 4, 00, 00, 000 + 50, 00, 000 + 60, 000 + 5,000 + 100 + 3
7
Ans:
Werite the numbers and give its expanded form:
a) Sixty five crore fifty one lakh three thousand fifteen.
Number:
8 Expanded form:

b) Fifty four million six hundred thirteen thousand nine.

Number:

Expanded form:







